R . 4233 AT
306 , TR e S
729.32 4 s \"—L 7 it : L. .‘:b
E=1 f EMBAAGMETPHEH TMF
I(X|+X|+1)(\p|_\pl+1) __EKTOX OIKISMOY
= Me T BorBe -k
E = 1355.74 2 Twy Opeovwwrabe/?w W
‘ EMB ; TWY KopuPwY Tou
AAOMETPHsH IZOrElOY HME| X A
Me 1 Borigein 2 30672032 | 423332186 =
Twy ope%«:,n'/(mv 2wreruyuévwv 3 30673 p ; ;
—_— OpUPWY Tou 4 m" 5
30673105 | 423332666
IHMEIO % . 006
A = Y MHKOZ 30673556 | 423333037 |
S 751.87 4233326.89 6 306753.03 | 423333716 | —
= 306754.65 4233318.23 210 7 306755.76 | 4 —
30675044 | 423331683 et 8 306750.54 | 4 e
A 306750.84 423331556 138 9 30676263 | 1392 il
E 306752.75 | 4233316.16 2'32 15 30673100 | 423332146 —
5 306754.77 | 423330976 ‘75'80 2 306720.32 | 423332186 ——
306747.33 4233307.41 : T
[e) 306747.24 4233307.70 ?-33 E=1/2 5K + X)W -Yiet)
I 306748.86 4233308.21 : -
23 = e
K 306748.49 4233309.38 1§0 E=4040712 :
A 306746.87 4233308.86 e EMBAAOMETPHZH IAIOKTHZI
M 306744.63 4233315.97 7 ENTOZ OIKIZMOY MPIN THN
N 306748.67 4233317.25 Py Me  Bofeia
= 306746.26 4233324.92 o T opBotuvey i
A 306751.87 4233326.89 ' S —
1 Wi Y SHMEIO X e
E=1/2 Z(X1 + Xi+1) ) 1 ST Pl ———
06729.32 v
=116.17 P2 2 3 .
E=ty . 15 306731.00 )
9 30676263 | 42333139¢ 1+ 4,
10 30677051 | 4233238L 4
12 30677619 | A299SSSm 4
13 0677740 1 —e====ii—)
14 oL ——— e




